Notes Answers


Chapter 1 Non-Current Assets
Answer 1

(a)
Licences

Recognition criteria:
· An intangible asset meets the identifiability criterion when it is separable or it arises from contractual or other legal rights (HKAS38 ‘Intangible Assets’).
· Additionally intangible assets are recognised where it is probable that the future economic benefits attributable to the asset will flow to the entity and the asset’s cost can be reliably measured.
· Where intangible assets are acquired separately, the asset’s cost or fair value reflects the estimations of the future economic benefits that are expected to flow to the entity.
· The licence will, therefore, meet the above criteria for recognition as an intangible asset at cost.
Measurement:

· Subsequent to initial recognition, HKAS38 permits an entity to adopt the cost or revaluation model as its accounting policy.
· The revaluation model can only be adopted if intangible assets are traded in an active market. As the licence cannot be sold, the revaluation model cannot be used.
· The cost model requires intangible assets to be carried at cost less amortisation and impairment losses.

Amortisation and renewal:

· Amortisation is the systematic allocation of the depreciable amount of an intangible asset over its useful life. The depreciable amount is the asset’s cost less its residual value.
· The licence will have no residual value. The depreciable amount should be allocated on a systematic basis over its useful life.
· The method of amortisation should reflect the pattern in which the asset’s economic benefits are expected to be consumed.
· If that pattern cannot be determined reliably, the straight line method of amortisation must be used.
· The licence does not suffer wear and tear from usage, that is the number of customers using the service.
· The economic benefits of the licence relate to Johan’s ability to benefit from the use of the licence.
· The economic benefits relates to the passage of time and the useful life of the licence is now shorter. Therefore, the asset depletes on a time basis and the straight line basis is appropriate.
· The licence should be amortised from the date that the network is available for use; that is from 1 December 2007.
· An impairment review should have been undertaken at 30 November 2007 when the licence was not being amortised. Although the licence is capable of being used on the date it was purchased, it cannot be used until the associated network assets and infrastructure are available for use.
· Johan expects the regulator to renew the licence at the end of the initial term and thus consideration should be given to amortising the licence over the two licence periods, i.e. a period of 11 years (five years and six years) as the licence could be renewed at a nominal cost.
· However, Johan has no real experience of renewing licences and cannot reliably determine what amounts, if any, would be payable to the regulator. Therefore, the licence should be amortised over a five year period, that is $24 million per annum.
Impairment:

· There are indications that the value of the licence may be impaired. The market share for the year to 30 November 2008 is disappointing and competition is fierce in the sector, and retention of customers difficult.
· Therefore, an impairment test should be undertaken. Johan should classify the licence and network assets as a single cash generating unit (CGU) for impairment purposes. The licence cannot generate revenue in its own right and the smallest group of assets that generates independent revenue will be the licence and network assets. The impairment indicators point to the need to test this cash generating unit for impairment.
(b)
Costs incurred in extending network
Recognition of feasibility study:

· The cost of an item of property, plant and equipment should be recognised when

(i)
it is probable that future economic benefits associated with the item will flow to the entity, and

(ii)
the cost of the item can be measured reliably.
· It is necessary to assess the degree of certainty attaching to the flow of economic benefits and the basis of the evidence available at the time of initial recognition. The cost incurred during the initial feasibility study ($250,000) should be expensed as incurred, as the flow of economic benefits to Johan as a result of the study would have been uncertain.
Cost, location and condition, and capitalization:
· HKAS16 states that the cost of an item of PPE comprises amongst other costs, directly attributable costs of bringing the asset to the location and condition necessary for it to be capable of operating in a manner intended by management. Examples of costs given in HKAS16 are site preparation costs, and installation and assembly costs.
· The selection of the base station site is critical for the optimal operation of the network and is part of the process of bringing the network assets to a working condition. Thus the costs incurred by engaging a consultant ($50,000) to find an optimal site can be capitalised as it is part of the cost of constructing the network and depreciated accordingly as planning permission has been obtained.
Leases:
· Under HKAS17, ‘Leases’, a lease is defined as an agreement whereby the lessor conveys to the lessee, in return for a payment or series of payments, the right to use an asset for an agreed period of time.
· A finance lease is a lease that transfers substantially all the risks and rewards incidental to ownership of the leased asset to the lessee.
· An operating lease is a lease other than a finance lease.
· In the case of the contract regarding the land, there is no ownership transfer and the term is not for the major part of the asset’s life as it is land which has an indefinite economic life. Thus substantially all of the risks and rewards incidental to ownership have not been transferred. The contract should be treated, therefore, as an operating lease.
· The payment of $300,000 should be treated as a prepayment in the statement of financial position and charged to the income statement over the life of the contract on the straight line basis.
· The monthly payments will be expensed and no value placed on the lease contract in the statement of financial position.
(c)
Handsets and revenue recognition
Inventory:

· The inventory of handsets should be measured at the lower of cost and net realisable value.
· Johan should recognise a provision at the point of purchase for the handsets to be sold at a loss. The inventory should be written down to its net realisable value (NRV) of $149 per handset as they are sold both to prepaid customers and dealers. The NRV is $51 less than cost. Net realisable value is the estimated selling price in the normal course of business less the estimated selling costs.
Revenue recognition:

· HKAS18, ‘Revenue’, requires the recognition of revenue by reference to the stage of completion of the transaction at the reporting date.
· Revenue associated with the provision of services should be recognised as service as rendered.
· Johan should record the receipt of $21 per call card as deferred revenue at the point of sale.
· Revenue of $18 should be recognised over the six month period from the date of sale.
· The unused call credit of $3 would be recognised when the card expires as that is the point at which the obligation of Johan ceases.
· Revenue is earned from the provision of services and not from the physical sale of the card.
Agency:

· HKAS18 does not deal in detail with agency arrangements but says the gross inflows of economic benefits include amounts collected on behalf of the principal and which do not result in increases in equity for the entity. The amounts collected on behalf of the principal are not revenue.
· Revenue is the amount of the ‘commission’.
· Additionally where there are two or more transactions, they should be taken together if the commercial effect cannot be understood without reference to the series of transactions as a whole.
Separability:

· As a result of the above, Johan should not recognise revenue when the handset is sold to the dealer, as the dealer is acting as an agent for the sale of the handset and the service contract. Johan has retained the risk of the loss in value of the handset as they can be returned by the dealer and the price set for the handset is under the control of Johan.
· The handset sale and the provision of the service would have to be assessed as to their separability. However, the handset cannot be sold separately and is commercially linked to the provision of the service. Johan would, therefore, recognise the net payment of $130 as a customer acquisition cost which may qualify as an intangible asset under HKAS38, and the revenue from the service contract will be recognized as the service is rendered. The intangible asset would be amortised over the 12 month contract. The cost of the handset from the manufacturer will be charged as cost of goods sold ($200).
ACCA Marking Scheme:
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Answer 2
(a)

Under HKFRS 5, a non-current asset or disposal group (in this case, Bye – as it is a cash generating unit) should be classified as held for sale if its carrying amounts will be recovered principally through a sale transaction rather than through continuing use. The criteria which have to be met are:
(a)
The item is available for immediate sale in its present condition.

(b)
The sale is highly probable.

(c)
Management is committed to a plan to sell the item.

(d)
An active programme to locate a buyer has been initiated.

(e)
The item is being actively marketed at a reasonable price in relation to its current fair value.

(f)
The sale is expected to be completed within one year from the date of classification.

(g)
It is unlikely that the plan will change significantly or be withdrawn.

· These criteria seem to have been met in this case. Before classification of the item as held for sale an impairment review will need to be undertaken irrespective of any indication or otherwise of impairment. Any loss will be recognized in profit or loss.
· The figure of $4.5 million will be used as fair value less costs to sell. The net assets and goodwill will be written down to $4.5 million with the write off going against goodwill in the first instance.

· HKFRS 5 requires items held for sale to be reported at the lower of carrying value and fair value less costs to sell.
· HKFRS 5 requires extensive disclosure on the face of the statement of comprehensive income and in the notes regarding the subsidiary.

· In the statement of financial position, it should be presented separately from other assets and liabilities. The assets and liabilities should not be offset.

· There are additional disclosures to be made concerning the facts and circumstances leading to the disposal and the segment in which the subsidiary is presented under HKFRS 8 Operating Segments.
(b)(i)
Operating lease:
· To qualify as a held for sale asset, the sale must be highly probable and generally must be completed within one year.
· In the case of the operating lease asset, they will not qualify as held for sale assets at 31 March 2004 as the company has not made a decision as to whether they should be sold or leased. Therefore, they should be shown as non-current assets and depreciated.

· Held for sale assets are not depreciated.

· Held for sale assets are valued at the lower of carrying value and fair value less costs to sell. The assets are not impaired because the value in use ($12m) is above the carrying value ($10m).

Plant:

· The plant would not be classed as a held for sale asset at 31 March 2004 even though the plant was sold at auction prior to the date that the financial statement were signed.

· The held for sale criteria were not met at the end of the reporting period and HKFRS 5 prohibits the classification of non-current assets as held for sale if the criteria are met after the end of the reporting period and before the financial statements are signed.

· The company should disclose relevant information in notes to the financial statements for the year ended 31 March 2004 (this is a non-adjusting event after the reporting date).
(b)(ii)
As at 31 March 2003
· Under HKFRS 5, a non-current asset qualifies as held for sale should meet the criteria mentioned in (a) above.
· At 31 March 2003, although the company ultimately wishes to sell the property, it would be unlikely to achieve this until the subsidence was dealt with.

· Additionally the company’s view was that the property should be sold when the renovations were completed which would have been at 1 June 2003.

· Also as at 31 March 2003, the company had not attempted to find a buyer for the property. Hence the property could not classed as held for sale at that date.

As at 31 March 2004

· The property had not been sold although it had been on the market for over nine months.

· The market conditions had deteriorated significantly and yet the company did not wish to reduce the price.

· It seems as though the price asked for the property is in excess of its fair value especially as a bid of $8.3m was received shortly after the year-end (20 April 2004).

· The property has been vacated and, therefore, is available for sale but the price does not seem reasonable in relation to its current fair value ($10m price as opposed to $8.3m bid and ultimate sale of $7.5m).

· Therefore, it would appear that at 31 March 2004, the intent to sell the asset might be questionable.

· The property fails the test set out in HKFRS 5 as regards the reasonableness of price and, therefore, should not be classed as held for sale.
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